
Determinar	a	constante	elástica	de	uma	mola	que	garanta	que	um	carrinho	de	massa	3	kg	

atinja	uma	rampa	a	altura	de	5	metros	com	uma	velocidade	de	2	m/s,	conforme	o	

desenho,	sendo	deformada	de	50	cm.		

	

Solução:	

Pelo	princípio	da	conservação	de	energia	

𝐸!! = 𝐸!! 	

	

Na	parte	inferior,	a	energia	mecânica	é	apenas	a	potencial	elástica.	Na	parte	superior,	temos	energia	

cinética	(devido	à	velocidade)	e	energia	potencial	(devido	à	altura)	

𝐸!" = 𝐸! + 𝐸! 

𝑘 ∙ 𝑥!

2 =
𝑚 ∙ 𝑣!

2 +𝑚 ∙ 𝑔 ∙ ℎ 

𝑘 ∙ 0,5!

2 =
3 ∙ 2!

2 + 3 ∙ 9,81 ∙ 5 

𝑘 ∙ 0,5!

2 = 153,2 

𝑘 =
153,2 ∙ 2
0,5!  

𝑘 = 1226 
𝑁
𝑚	

	

	


